Station 1 —Dilation (scale Factor and center (0,0))

1. State whether a dilation using the scale factor k results in a reduction or an enlargement of the original.
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2. A triangle has vertices G(2, -2), H(-6, 2), and J(0, 4). If the triangle is L
dilated by a scale factor of 0.5 through the center (0,0). what are the ’__,Arl‘)
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Station 2- Dilation at (h,k)
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Station 3- Similarity

State if the triangles in each pair are similar. If so, state how you know they are similar and complete the

similarity statement.
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1. ATSR~ADCB. Solve for x.
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Station 4 — Using Similarity

2. AABC~AFED. Solve for x.



Station 5 — Using Proportions

3. Solve the value of x.
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casts a shadow that is 51.5 ft. long, then how tall is
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Station 7 — Solving
1. Find the length of EG.

2. Solve forx, a, and b

GH || DF.
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3. . Given that mzA=50°and m.B =100°, what is m~/2? ) - ,"
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1. State whether or not the following triangles are similar and support your answer
B "VeS A RBC A DE
75" y
by AN
p Sz ot U
350 v ]
A .
) §O
= 4
-l
2. Looking at the triangles in the figure on the right: o

a) Are the two triangles similar? N"\\

b) What is the length of QT? \\

¢) If PTis 15 cm, what is the length of RT? ~K
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